Fiscal Year 2023B Street & Alley Program

	GrassBuster Landscaping Inc	Sam's Construction	
	935 Rahway Drive	1227 E 15th Street	
	Newark, DE 19711	Wilmington, DE 19802	0
	Rich Crouse	Samuel Martinez	
	rcrouse@aol.com	302-654-6542	
Dover Little League Parking Lot	\$165,442.16	\$237,664.00	\$0.00
East Loockerman St (John Hunn			
Brown Road to East Division St)	\$225,021.84	\$270,750.00	\$0.00
Loockerman Court (East			
Loockerman to End)	\$22,830.00	\$30,400.00	\$0.00
GRAND TOTAL	\$413,294.00	\$538,814.00	\$0.00

Vendor Preference Price (for Minority/Local Vendor Rule

Fiscal Year 2023B Street & Alley Program

Fiscal Year 2023B Street & Alley Program									
				GrassBuster Landscaping Inc		Sam's Construction			
				935 Rahway Drive		1227 E 15th Street			
				Newark, DE 19711		Wilmington, Dl	E 19802		
				Rich Crouse		Samuel Martin	ez		
	Dover Little League Par	rking Lo	t	rcrouse@aol.com		302-654-6542			
Item #	Description	QTY	UOM	Unit Cost	Extened Cost	Unit Cost	Extened Cost	Unit Cost	Extened Cost
	CONCRETE								
1	Inlet Protection	0	EA	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
2	Remove & Replace Type II Suburban Curb	0	LF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
3	Remove and Replace 6" Concrete Driveway Apron	0	SF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
4	Remove & Replace 4" Concrete Flatwork	0	SF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
5	Remove & Replace Catch Basin Frame and Head	0	EA	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
6	Remove & Replace 8.5" Valley Gutter	0	LF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
7	New Type III Curb and Gutter	0	LF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
8	New 4" Concrete Flatwork	0	SF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
9	New 6" Concrete Driveway Apron	0	SF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
10	Detectable Warning Truncated Dome Tiles	0	SF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
11A	Graded Aggregate – Crusher Run	0	CY	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
11B	GABC	0	TN	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
				Sub Total	\$0.00	Sub Total	\$0.00	Sub Total	\$0.00
	ASPHALT					-	-		
12	Preparation	9,176	SY	\$1.00	\$9,176.00	\$4.00	\$36,704.00		\$0.00
13	Roto-Milling	18,352	SY-IN	\$1.50	\$27,528.00	\$2.50	\$45,880.00		\$0.00
14	Type "C" Hot Mix	1,093	TN	\$110.00	\$120,230.00	\$120.00	\$131,160.00		\$0.00
15	Type "C" Hot Mix Patching	0	SY	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
16A	Striping - Single Solid White	3,944	LF	\$1.64	\$6,468.16	\$5.00	\$19,720.00		\$0.00
16B	Pavement Marking - Arrow	12	EA	\$170.00	\$2,040.00	\$350.00	\$4,200.00		\$0.00
17	Traffic Signal Loop	0	EA	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
18	Recyclable Material Deduction	PER	TN	\$0.00	\$0.00	\$0.50	\$0.00		\$0.00
				Sub Total	\$165,442.16	Sub Total	\$237,664.00	Sub Total	\$0.00
				Total	\$165,442.16	Total	\$237,664.00	Total	\$0.00

Fiscal Year 2023B Street & Alley Program

GrassBuster Landscaping Inc Sam's Construction									
				935 Rahway Drive		1227 E 15th Street			
				Newark, DE 19711		Wilmington, DE 19802		0	
Eas	st Loockerman St (John)	Hunn B	rown	Rich Crouse		Samuel Martinez			
	Road to East Division			rcrouse@aol.com		302-654-6542			
Item # Description QTY UOM				Unit Cost	Extened Cost	Unit Cost	Extened Cost	Unit Cost	Extened Cost
	CONCRETE								
1	Inlet Protection	4	EA	\$150.00	\$600.00	\$250.00	\$1,000.00		\$0.00
2A	Remove & Replace Type II Suburban Curb Remove & Replace Type	1,100	LF	\$70.00	\$77,000.00	\$50.00	\$55,000.00		\$0.00
2B	III Curb & Gutter	30	LF	\$70.00	\$2,100.00	\$50.00	\$1,500.00		\$0.00
3	Remove and Replace 6" Concrete Driveway Apron	0	SF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
4	Remove & Replace 4" Concrete Flatwork	1,150	SF	\$14.00	\$16,100.00	\$20.00	\$23,000.00		\$0.00
5	Remove & Replace Catch Basin Frame and Head	4	EA	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00		\$0.00
6	Remove & Replace 8.5" Valley Gutter	20	LF	\$150.00	\$3,000.00	\$250.00	\$5,000.00		\$0.00
7	New Type III Curb and Gutter	0	LF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
8	New 4" Concrete Flatwork	0	SF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
9	New 6" Concrete Driveway Apron	0	SF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
10	Detectable Warning Truncated Dome Tiles	50	SF	\$32.00	\$1,600.00	\$45.00	\$2,250.00		\$0.00
11A	Graded Aggregate – Crusher Run	70	CY	\$40.00	\$2,800.00	\$85.00	\$5,950.00		\$0.00
11B	GABC	0	TN	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
				Sub Total	\$109,200.00	Sub Total	\$99,700.00	Sub Total	\$0.00
	ASPHALT							1	
12	Preparation	5,400	SY	\$1.50	\$8,100.00	\$4.00	\$21,600.00		\$0.00
13	Roto-Milling	10,800	SY-IN	\$2.00	\$21,600.00	\$2.50	\$27,000.00		\$0.00
14	Type "C" Hot Mix Type "C" Hot Mix	735	TN	\$110.00	\$80,850.00	\$120.00	\$88,200.00		\$0.00
15	Patching	210	SY	\$23.00	\$4,830.00	\$140.00	\$29,400.00		\$0.00
16A	Pavement Marking - Arrow	1	LF	\$201.84	\$201.84	\$350.00	\$350.00		\$0.00
16B	Pavement Marking - Stop Bar	30	LF	\$8.00	\$240.00	\$150.00	\$4,500.00		\$0.00
17	Traffic Signal Loop	0	EA	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
18	Recyclable Material Deduction	PER	TN	\$0.00	\$0.00	\$0.50	\$0.00		\$0.00
				Sub Total	\$115,821.84	Sub Total	\$171,050.00	Sub Total	\$0.00
				Total	\$225,021.84	Total	\$270,750.00	Total	\$0.00

Fiscal Year 2023B Street & Alley Program

GrassBuster Landscaping Inc Sam's Construction									
				935 Rahway Drive		1227 E 15th Street			
				1				0	
Ι	- al-a Cat (East I	1	4-	Newark, DE 19'	/11	Wilmington, DE 19802		0	
Loc	ockerman Court (East Lo	ockerm	an to	Rich Crouse		Samuel Martinez			
End)				rcrouse@aol.com		302-654-6542		TI ' C	T P / 10 /
Item #	Description	QTY	UOM	Unit Cost	Extened Cost	Unit Cost	Extened Cost	Unit Cost	Extened Cost
	CONCRETE Inlet Protection	1	ГЛ	¢150.00	¢150.00	\$250.00	#250.00		Φ0.00
1	Remove & Replace Type	1	EA	\$150.00	\$150.00	\$250.00	\$250.00		\$0.00
2	II Suburban Curb	40	LF	\$70.00	\$2,800.00	\$50.00	\$2,000.00		\$0.00
3	Remove and Replace 6" Concrete Driveway Apron	0	SF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
4	Remove & Replace 4" Concrete Flatwork	0	SF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
5	Remove & Replace Catch Basin Frame and Head	1	EA	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00		\$0.00
6	Remove & Replace Valley Gutter	0	LF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
7	New Type III Curb and Gutter	0	LF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
8	New 4" Concrete Flatwork	0	SF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
9	New 6" Concrete Driveway Apron	0	SF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
10	Detectable Warning Truncated Dome Tiles	0	SF	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
11A	Graded Aggregate – Crusher Run	10	CY	\$40.00	\$400.00	\$95.00	\$950.00		\$0.00
11B	GABC	0	TN	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
				Sub Total	\$4,850.00	Sub Total	\$4,700.00	Sub Total	\$0.00
	ASPHALT					-		-	
12	Preparation	1,000	SY	\$1.00	\$1,000.00	\$4.00	\$4,000.00		\$0.00
13	Roto-Milling	2,000	SY-IN	\$2.00	\$4,000.00	\$2.50	\$5,000.00		\$0.00
14	Type "C" Hot Mix	115	TN	\$110.00	\$12,650.00	\$120.00	\$13,800.00		\$0.00
15	Type "C" Hot Mix Patching	10	SY	\$25.00	\$250.00	\$140.00	\$1,400.00		\$0.00
16	Pavement Marking – Stop Bar	10	LF	\$8.00	\$80.00	\$150.00	\$1,500.00		\$0.00
17	Traffic Signal Loop	0	EA	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
18	Recyclable Material Deduction	PER	TN	\$0.00	\$0.00	\$0.50	\$0.00		\$0.00
_				Sub Total	\$17,980.00	Sub Total	\$25,700.00	Sub Total	\$0.00
				Total	\$22,830.00	Total	\$30,400.00	Total	\$0.00